[10FUT BF]

*WAYBICIOTEMZRELFT . BESREDOEEF. UTOBYELET,
1, REN2F—L—-ERERLTOREREH LA

2. RENIF—LLULE-TERT—LE

& | g
A REEEE |B EH Cc LR D #K E Hik F A G FH%FE i & |[ty|¥y—|Efh
ESPRE
——— *® A BlA Cl|A DA E|A FlA G
A P R 6—3 0—6 6—3 6—3 0—6 5—6 3 3 4
(CaR-H—LTO) (4)
sz 4z {— B A B C|B DI|B E|B F|B G
B == IS 3—6 2—6 1—6 0—6 0—6 3—6 0 6 7
(2R 7/R—LTC)
" o} Alc B c D|C Elc Flc G
C LR AABE 6—0 6—2 6—4 6—1 — 6—O0 5 1 2
(TOPAURT7E&F)
A D A|D B|D C D E|D F|D G
D AR FZN 3—6 6—1 1—6 6—4 0—6 5—6 2 4 5
(k- HK—LTC) (6)
(& E A|E B|E c|E D E F|E G
g Fik &5 3—6 6—0 1—6 4—6 0—6 4—6 1 5 6
(2R 7/R—LTC)
- e F AlF B|F Cc|F D|F E F G
F AR5 6—0 6—O0 — 6—O0 6—O0 6—0 6 0 1
(TOPAVRT7E&F)
VR G AlG B|G C|G D|G E|G F
G FE B 6—5 6—3 0—6 6—5 6—4 0—6 4 2 3
(PR R—LTC) 4) (6)




	10B

